Advanced Financial Accounting
1. Ankit, Bobby and Kartik were partners in a firm sharing profits in the ratio 4:3:3. The firm was dissolved on 31-3-2018. Pass the necessary Journal entries for the following transactions after various assets (other than cash and bank) and third party liabilities had been transferred to Realisation Account:
(i) The firm had stock of ₹ 80,000. Ankit took over 50% of the stock at a discount of 20% while the remaining stock was sold off at a profit of 30% on cost.

(ii) A liability under a suit for damages included in creditors was settled at ₹ 32,000 as against only ₹ 13,000 provided in the books. Total creditors of the firm were ₹ 50,000.

(iii) Bobby’s sister’s loan of ₹ 20,000 was paid off along with interest of ₹ 2,000.

(iv) Kartik’s Loan of₹ 12,000 was settled at ₹ 12,500. (10 Marks)

SOLUTION:

Introduction:

A partnership is a legal form of business whereby two or more people agree to share the profits and liabilities. In India, the partnership is governed by the Indian Partnership Act, 1932. The partners to the association may decide to enter into a written partnership agreement or the partnership deed, which enlists the various clauses that may govern the partnership from its inception to the conclusion if it takes place. The parties to a partnership arrangement can be individuals, NGOs, or governments. Partnership arrangement can be of three types:
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2. X Ltd and Z Ltd amalgamated on and from 1st January 2020. A new company XZ Ltd was formed to take over the business of the existing companies.

Balance sheet as on 31.12.2019

	Liabilities
	X Ltd
	Z Ltd
	Assets
	X Ltd
	Y Ltd

	Equity share

capital Rs.10
	60,00,000
	70,00,000
	Sundry

Fixed assets
	85,00,000
	75,00,000

	General

Reserve
	15,00,000
	20,00,000
	Investment
	10,50,000
	5,50,000

	Profit & Loss

A/c
	10,00,000
	5,00,000
	Stock
	12,50,000
	27,50,000

	Statutory

Reserves
	5,50,000
	2,00,000
	Debtors
	18,00,000
	40,00,000

	12%

Debentures
	30,00,000
	40,00,000
	Bank &

Cash
	4,50,000
	4,00,000

	Sundry

Creditor
	10,00,000
	15,00,000
	
	
	

	
	1,30,50,000
	1,52,00,000
	
	1,30,50,000
	1,52,00,000


Z Ltd issued enough number equity shares for the net assets, compute purchase

consideration and mode of discharge thereof draft the balance sheet of XZ Ltd after

amalgamation. (10 Marks) –
SOLUTION:

Introduction:

Amalgamation can be defined as the combination of one or more entities to form a new legal entity. It includes:

1. Formation of a new company by joining two or more companies;

2. Absorption of a weaker company by another stronger company

Thus, amalgamation includes absorption. The company that transfers its assets or liabilities to another company in amalgamation is known as the transferor, and the company into which 

3.a. The relations between partners to one another are determined by their partnership agreement. The partnership agreement normally provides for the rights and duties of the partners, the conduct and management of the firm, the capital and their profit-sharing arrangement. The Partnership Act 1961 applies in the absence of provisions being made under the agreement. Discuss. (5 Marks)

SOLUTION:

Introduction:

A partnership is a business form between two or more persons governed by the Indian Partnership Act, 1932. The partnership agreement is a written agreement between the partners of a legally binding partnership firm. It is also known as a partnership deed. The partnership agreement defines the applicable clauses in the event of retirement, resignation, or death of any of the existing partners. It also lists down the conditions for the admission of a new 
3.b. M/s Mehta and sons earn an average profit of rupees 60,000 with a capital of rupees 4,00,000. The normal rate of return is 10%. Using capitalization of super profits method calculate the value the goodwill of the firm. (5 Marks)

Introduction:

The goodwill of the business can be defined as the reputation of the business. It is an intangible asset that arises in the event of a merger or acquisition of the company. When the price paid for acquiring the business is more than the net value of assets and liabilities acquired, the difference amount is goodwill.

Concept and application:
Goodwill has no separate existence and exists with the business. In the case of a company, goodwill must be valued when amalgamation or absorption occurs.

The different methods to value goodwill are:

1. Average profits method

